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1)  xeroderma pigmentosum are all except : 
A. Basal cell cancer 
B. Melanoma 
C. Sweat gland cancer 
D. Basaliod squamous cell cancer
                                                                                                              Answer : C
             
2) Woman with squamous cell carcinoma of the cervix caused by
which type of human papilloma virus : 
A. 7 
B. 6 
C. 11 
D. 18
                                                                                                                        Answer: D            

3) which is of the following is not autosomal dominant cancer
syndrome: 
A. Li-Fraumeni syndrome 
B. Neurofibromatosis 
C. Mutiple endocrine neoplasia 2 
D. Hereditary nonpolyposis syndrome 
E. Xeroderma pigmentosum
                                                                                                               Answer: E

4) Xerderma pigmentosum doesn’t affect: 
A. Melanoma 
B. Squamous cell cancer 
C. Sweat gland 
D. basal cell cancer 
E. Basaliod squamous cell cancer
                                                                                                                        Answer: C       
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